fit—sphere.rdf, rms error=330.008
a,b,c =2574768.5873,2574768.5873,2574768.5873
offsets:24.9727,19.7678,-67.4504
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fit—triaxial-norot—no-trans.rdf, rms error=213.7611
a,b,c =2575207.1431,2574666.8445,2574354.8425
offsets:0,0,0
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fit—triaxial.rdf, rms error=205.5351
a,b,c =2575239.6402,2574686.4318,2574318.2344
offsets:69.1582,109.7427,41.4551
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fit—=biaxial.rdf, rms error=236.0905
a,b,c =2575007.4602,2575007.4602,2574310.5525
offsets:47.6058,96.4946,50.7326
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fit—triaxial-norot.rdf, rms error=206.0904
a,b,c =2575238.959,2574685.5791,2574324.1054
offsets:64.3687,102.3637,38.3817
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